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QUESTION 1

You have a key-value pair size of 100 bytes. You increase your HFile block size from its default 64k. What results from
this change?

A. scan throughput increases and random-access latency decreases
B. scan throughput decreases and random-access latencyincreases
C. scan throughput decreases and random-access latencydecreases
D. scan throughput increases and random-access latency increases

Correct Answer: A

QUESTION 2

Your client application connects to HBase for the first time to perform a write. Which of the following sequences will it
traverse to find the region serving the row range of interest?

A. ZooKeeper -> RegionServer -> Region

B. ZooKeeper ->.META. -> RegionServer -> Region

C. ZooKeeper-> ROOT->.META. -> RegionServer -> Region

D. ZooKeeper -> HMaster->-ROOT-->.META. -> RegionServer -> Region

Correct Answer: C

QUESTION 3

You have a "Users" table in HBase and you would like to insert a row that consists of a UserlID, "jsmith70" and an email
address, "jane@example.com". The table has a single Column Family named "Meta" and the row key will be the user\\'s
ID. The shell command you should use to complete this is:

A. put'Users\\, “jsmith70\\', jane@example.com\\’

B. put "Users\\', "UserlD:jsmith70\\', "Email:;jane@example.com\\'

C. put "Users\\, “jsmith70\\', "Meta:Email\\', “jane@example.com\\'

D. put “Users\\',"Meta:UserID\\',"jsmith70\\',"Meta:Email, jane @example.com\\'

Correct Answer: B

QUESTION 4

You have one primary HMaster and one standby. Your primary HMaster Falls fails and your client application needs to
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make a metadata change. Which of the following is the effect on your client application?

A. The client will queryZooKeepertofind the location of the new HMaster and complete the metadata change.
B. The client will make the metadata change regardless of the slate of the HMaster.

C. The new HMaster will notify the client and complete the metadata change.

D. Theclientapplication will fail with a runtime error.

Correct Answer: A

QUESTION 5

You need to free up disk space on your HBase cluster. You delete all versions of your data that is older than one week.
You notice your delete has had minimal impact on your storage availability. This is because:

A. You have large store file indexes

B. HBase has not flushed the MemStore
C. HBasehas not run a minor compaction
D. HBase has notrun a major compaction

Correct Answer: A

CCB-400 VCE Dumps CCB-400 Study Guide CCB-400 Braindumps

CCB-400 VCE Dumps | CCB-400 Study Guide | CCB-400 Braindumps 3/3


https://www.pass4itsure.com/ccb-400.html
https://www.pass4itsure.com/ccb-400.html
https://www.pass4itsure.com/ccb-400.html
http://www.tcpdf.org
https://www.pass4itsure.com/ccb-400.html
https://www.pass4itsure.com/ccb-400.html
https://www.pass4itsure.com/ccb-400.html

